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4R8TR2 +5R4T-2T =
aR*T+5RAT-2T=

oR*T-2T

(56x1023)(3.4x102)=
(56x3.4)(10°%) =

19.04x107° =1.904x107*
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(X+5)(8X+2)

3(x2 —3x +2) = 3(X - (X-2)

(x4 - 1) = (x2 +1)(x2 -1) =

(X2 49X + DX -1

2X2 +3X-2=(2X- D(X+2)

X2 =10X = -18=X
x2_9X +18=0
(X-3)(X-6)=0

KeB X6

2X2 12X +14 = 32 + 2X
2x2-18=0

X2-9-0
X+3)X-3)=0
X=13

2X+15=X2
0=x%_2X-15
(X+3)X-5)=0
X=-3; X=5

x3 = 16X

X3 -16X=0
x(x2-16)=0
(X)(X+4)(X-4)=0
X=0, 4, -4

V=144 = JAJ144 =12
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1) X2+6X=6
X2 +6X+9=15
(X+3)(X+3)=15
X+3=iﬁ§
X=-3+{15

2) X2+4X=-1
X2 +4X+4=3
(X+2)(X+2)=3
X+2:iJ§
X=-2+y3
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5) b2 - 4ac
X2+3X-10=0

(32 -4(1)(-10)
9+40=49

real, rational, unequal

6) 122-4(1)(36)
144-144=0
real, rational, equal
7) 4X%-8X+20
(-8)%-4(4)(20)
64 - 320 = -256
imaginary

8+4(8°-4(1)(-5) _

—3+{(32-4(2)(6) %

8) X2-5X+3=0
(-5 -4(1)(3)
25-12=13
real, irrational, unequal
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13) .20(2,345) = $469 discount
2,345 - 469 = $1,876 new price

14) $1,876(.06) = $112.56 tax
$112.56 + $1,876 = $1,988.56 total

15) 12+ (2)(16) = 44 total weight
12=WPx 44
12 _\wp
44
WP = .27 (rounded)

27%
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148 = (5)(56)
B = (5)(4)
B=20
18) 400+ 16 = 25 Ibs.
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.62 x 8 = 4.96 mi.
50 x 6 = 300 mi.
280 + 20 = 14 hours
60 mph x 1 hr = 60 mi.
60 + 3 =20 mph

60 mi. + 20 mph =3 hrs.
D =R.T

D¢ =RcTc

Rc =R, +2

D =D¢

D, =R, (5)

D¢ =Rg (4)

Dc =(R_ +2)(4)
R.(5)=(R_+2)(4)
5R_ =4R, +8

R =8 mph

Rg =8+2=10 mph
Dy=RyTy

Dp =RpTp

D, +Dp =230
R;=35

Rp =45

To=T)-2
D,;=(35)T,
230-D;=(45)(T;-2)
230-Dy=45T;-90
320-D,=45T,
320-45T;=D;
320-45T, = 35T,
320 =80T,
Ty=4hrs
To=4-2=2hrs

2 hrs after 3:00=5:00 PM

D, =(35)(4)
Dy =140 mi.

Dp =(45)(2)

Dp =90 mi.

check: 90 + 140 =230
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